1 (Sem-3) ECO

2024

ECONOMICS

Paper : ECO0300104

( Intermediate Economics )

Full Marks : 60

Time : 2% hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x8=8

TS TR FCHpTR e ot -

(a) Define indifference curve.

50 @R e fan

(b) Slope of the budget line is positive.
(Write True or False)

79 (I e 49 | (101 & Ry o)

(/0 When total product is maximum,
marginal product starts declining.

(Write True or False)
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A25/238 ( Turn Over )



(d)

(e)

(9)

(h)
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(2)

Diminishing MRTS results in isoquants
being convex/concave to the origin.
(Choose the correct option)

FRPNE MRTS J 3103 SHeAVA @ (%S
2fS Tae /oee 7 |
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State briefly the essence of Say’s law
of market.

I 677 R Jo1 ST 53¢ e 30|

What kind of inflation is caused by
an increase in wages and import
prices?

TgR oF S W 3" Teo Q@AW
TS =7 7

In a perfectly competitive market,
average revenue = .
(Fill in the blank)
4 AfSCN @S, T8 TH = |

(414 31 53 1)

Adam Smith advocated autarky as

an economic policy.
(Write True or False)

o Py RS IR  F adeies TS
fBo1eet Resrr fafet | (3161 &1 faw feren)

( Continued )

(3)

2. Answer any six of the following questions :

2x6=12

©olq CAEA R I 2619 Tel el -

(@)

()

(c)

(@

(e)

)
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Give two examples of fixed costs.

%= IR 701 Sz faan o

Define expansion path of a firm.
G AfSDI F2=PIR X7 5T fom |

Distinguish between average revenue
and marginal revenue.

TS I SF AT SRR T&ro 147 {511 |

Explain the effect of income change
and price change of a good on the
budget line of a consumer.

ToCSTER T (AR 89S H *R{qET S <01
SR %3 RIS 2ro/ AT 940 |

curves for
perfect

Draw the indifference
perfect substitutes and
complements.

T Rew o e sRopEs AR RS
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What is normal profit?
HSIRY oS &9
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(4)

(g) State and explain the equation of
exchange.

Rfvag 9= Tz <Rk I <41 1

(h) What is the difference between
precautionary motive and speculative
motive of demand for money?

HearR TEe N4 2

(ij Briefly state the components of Keynes’
aggregate effective demand.

XA K9 FE] DIIRAR SR 540 Srad
Exil

() What is comparative advantage in
production?

TS BEgEe qad 2
3. Answer any four of the following questions :

5x4=20
TR ARRR R e vif<e] Ses

(a) Prove that the marginal rate of
substitution (MRS) between two goods
is equal to the absolute slope of the
indifference curve and also equal to
the ratio of marginal utilities.

499 ¥ @ Ry AR [FoR 4 =]
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(b)

(c)

@

(e)
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(5)

Explain the following properties : ~ 2%2x2=5
] IR T A0 ¢

(i) Indifference curve slopes from left
to right.

fReE @4 ASTER [ GFEE afs
I |

(i) Two indifference curves cannot
intersect.

7O FICrT (I91% FoI0 FRT IR |

When are L-shaped isoquants obtained?
Explain.

L-SPfSq SCATH @41 (Ffom ¢l I/ 2
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State and discuss the law of variable
proportions.

R wpere R w76 s/ e
Bl

Why is the average revenue curve
under monopoly downward sloping?
Discuss.

IO THR© 516 W @@ AR =™ [’w 2
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(6)
() Ilustrate the factors that cause
demand-pull inflation.
viRAES RS srafs w9 FRIGER -
90U
(99 How does Keynes’ theory differ from
the quantity theory as a theory of
demand for money?
T o oy R 2R oG AR wgq
{1 T 35 2
(h) Discuss the benefits of free
international trade.
T& QAP A R ST 547 |
4. Answer any two of the following questions :
10x2=20
O 2R [ (Pl o T fay
(@) Explain consumer’s equilibrium with

(b)

A25/238

indifference curves. Also show that price
effect is the sum-total of income and
substitution effects. 5+5=10
fers @R e Srerer s BIIR)|
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Explain in detail the laws of returns
to scale. 10

%ﬁﬂmwﬁmﬁﬁmﬁ%@mw
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(c)

(@)

(e)
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(7))

Explain the credit creation process
of commercial banks. How does the

Central Bank influence the capacity -of
credit creation by the commercial
banks? 6+4=10

MR QT 49 R efeuer wrEm w0
@FER @ALF IARE @I A0 R e
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Discuss the classical theory of full
employment. Examine Keynes’ critique
of the classical theory. 6+4=10

o Rarr Cfe gl wemn w4
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Distinguish between the static and
dynamic gains from trade. Discuss
how trade helps achievement of gains
from consumption and gains from
production. 4+6=10
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